o(d dxy) (cm)

1072 ;

1 0 1 2 3

S
L

o(d dz) (cm)‘

1072F-

- 11 1
L.UOT:

=
)
©
o

1

0.95 i
-3

—=— DOUM_VUUUI RUUDOUUUUL — Global_— MKEMVIISS

—e— DOQM~™V0001"R0O00000001Global—mkFitMISSOUTER__ R
—— DOM~”V0001~"R000000001Global—_mKkFitBADINNER E
—— DQM~”V0001"R000000001—Global—mkFitBADOUTER__RECO
—— DOM_V0001"R000000001__Global__mkFitNOMEAS

- 111
L.VO

Ratio

0.95H 0 1 5 3

TP ® (PCA to beamline)

o(®p./p.)

10‘2£-Jr ------- Jf ........... ++ ___________ SR +

L. VO

Ratio

1 o0 1 2 3
TP @ (PCA to beamline)

0.95 i



	Contents
	Page 1


